@® 972 = (100 - 3)? = 100% — 2 x 100 x 3 + 32 = 9409
@ 51x49=(5+0.1)(5-0.1) = 5% - 0.12 = 24.99

® 3012 = (300 + 1)2 = 300 + 2 x 300 x 1 + 1% = 90601
@ (V24 V3)(V2- V3) = (V2)2 - (V3)2 = -1

(- V10 - V2)(V10 - V2) = (V10)? - (v2)? =8

O
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6T + (~23)? - vz(w——%) —atbV3 O B2 e

, a+b 9 F27H, a, b= FEF)

® -15 @)15 ® -9 @ 9 ® 0

6+12-6V2+3=21-6V2
a=21, b=-6
L a+b=21-6=15




2 V3

o 3k FohH?

T 0 1 2

1 1,000 1,005 1,010

2 1.414 1.418 1.421

3 1,732 1,735 1,738

4 2 2.002 | 2,005

o 2.236 2.238 2.241

6 2.449 2.452 2.454

7 2.646 2.648 2,650

8 2,828 | 2,830 | 2,832
@® 1.414 @ -1.732 ® 1.732
@—2.449 ® 2.449

%_3_\/‘/;:_2_\}?:_\/6:_2449




5. AAF A G AFEE a, AAF B Y Y AFISr S T
o, o2 Bl 2 AL nF 12H? (th A<B)

H7]
@ a+b=0 © ab<0
© a® < b? ® a-b>0
ONON®) @ 9,0 ® 0,
@6))@7@ ©©7®7@

lal < 1Bl -+~ (1)
a>0,b<0---(2)
(1), )l Al Da+b<0




6.

—2<x<y<0 2, ta FFE BT A=H?

@) (2-x)? O —-/(x-2)?
® V(2+y)? ® -/(-y)?
@ - (-2)?

O @ © ®© @)0.©

® ©.e

O-2<x<y<0°BEZ2<2-x<4
=>2</2-x2=2-x<4
O-2<x<0°B2 4<x-2<-2
= -4<x-2<-2
©-2<y<0°EZ0<y+2<2
=0< \/W:y+2<2
@®-2<y<0°BZ0<-y<20

> 2<=/[DP = () =y< 0

@-2<y<0°ER 4<y-2<-2
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@ 2x+y 9 e 7ot

@)y =319 N AA%7} 2 5 giek.
@ x7H9EA 2 9 w4 Bat gt
@)y = HH=A 6 9 Wigolof gt
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B
96x 96x

N — 77}1}0ﬂ 27} 5)7] A—MLTﬂg‘r?ﬂZﬂ—E ook

Eli=2

96 = 2° x 3 °|B & xy &= BtEA] 6 (AF=) o] ojof gt (O
49)

x=14d, y=6°HN= V16 =4 o]t}
y:3%ltr41x—2°]tﬂN_8°1E’r(©%@ 11
x+ye=x=2y=34<4 0 =& ’%Z&'T&‘Q(@ﬁ
x=30]2y=25% oTNC’Z} 7}

7} ol th (G F-otA] &t




8.

O Vo
®

2

@ /-~
X
@ /—xy?

“l<x<y<04¥4 M, o3 F 1t & 55 I2H?

Y

x2

®

B

-l<x<y<o0o|Bg
® yiy<1

2
@ <y<1

X

xy <1 09]

al =<1
X

J >1

El

HOMH /—x?y < ay <1
HOMH /-x%y < xy <1




V5 <x< VA B TESH A4 10 A5t 2709 ), o] A 4H
SHl ot A4 A £ 25 2 A7

s @9 @A @uA 612

V5 <x< VA& BESHE B x b2 A Hel R 4 < VA <5

ook SRR 16 < A < 25
A=17, 18 --- 23, 24, 25 ]2 9 Jjo|c},




10. f(x) = Vx+ 1= VxolaL, S(x) = f(1) + f(2) + f(3) + - + f(x)
olztal gtet. 100 ©|5Fe] A noll tisted S (n) 9] ghol AA47}
HEng B 129?

@)s © I ©) F ORI ©) 'Y
Stn) = (v2-1) + (V3-v2) + (VI-+3) +
(Va+1-+n)=Vn+1-1
On=8¢ M, Sn)=3-1=2
@On=15¢M,Sn)=4-1=3
@n=34 M, 5n=6-1=5
@®n=504 ™, S(n) = V51 -1
®On=99d o, S(n) =10-1=9
m2tA @, @, ®, @7t goltt.




11.

N5 < x> 2 xol 7 ke Baer o,
\/5 o] ZFo. 1519
@ 3 @)4 ®5 @ 6

o] m, <

)

ﬁ

_|_

—_

< x>+ x o 7P 77he Ageoltt.
1<V2< /(15)2<2°B2 < V2>=1
(Fo1x A

=< v2(¥2-1) >

(V2+1)(V2-1)

V2(V2+1) N
(V2-1)(V2+1)
=<2-V2>+<2+ V2>
=1+3=4 (- 1< V2<15)

+ <




12. A=4x+2, B=6x2-5x—4 °]1

| oy

o & o

=ax+b 2 YEFo] A o ab

B 6x2 —b5x—4
A~ 4x+2
(2x+1)(3x—4)
4x + 2
(2x+1)(3x—4)
2(2x + 1)

_ 3x-—4

=ax+b




13.

@® 2 @ 4 )6

@ 8

3a-3=caBA a=

af +3

3
of+3a+36+12=0
(@+3)(B+3)=-3
a+3=+14 T g+3==%30°]
(@,8) = (-2,-6) (~4,0)
ca=-a-B-3N5a=15

af+3
3

L —a—-f-3=

B=

¥ —ax-3x+3a-3=(x+a)(x+p) =2 LS
¥ -(a+3)x+3a-3=x*+(a+B)x+
a+3=-(e+p)NNa=-a-p-3

+ap

H




@ x2-2x-1

@ x>+x-1

® x2-x49

@ x®2-x+3

—A2-8A-9

(A-6)(A-2)—-21 =A2-8A +12-21

(x2—x—9) (x2—x—|—1)

= (A-9)(A+1)




15. o] xt -3x% +1°] (% + ax + b)(x? + cx + d) 2 Q15=of 2 o,
a+b+c+d° ge 757

@ 2 @ 1 ® 0 @-1 @)

S5 ‘
x? =X =2 x|gotH
-3 +1=X2-3Xx+1
=X2-2X+1-X
=(X-172%-X
=(x2-1)2-x2
=2 -1-x)(x*-1+x)
=2 -x-D(x*+x-1)°|B2
a=-1,b=-1,c=1,d=-1°A4%
a=1,b=-1,c=-1,d=-1
La+b+c+d=-2




